IE _J.*_E-”LolI:HHI:I

s F 1 600 SF1600A12|= Z15mm, M5, E2I7E 200 0 /min

& M5 Y UaEs
@ CE / RoHSUIS

© 7Y PIY B

@ _LOI E.I'_I?l_

= =
FERE

12

F 0l

1]
1K)

5F1so un.

(OPNEIES G ojo|R7= IY HAMY
SF1600 Al2|= |: LHROOIRE 1= A2 1 AC 220V (50/60Hz)
E: Eno|RE 1= Al 2 AC 110V (50/60Hz)
@ HEHIAl A4 1 AC 24V (50/60Hz)
6 1 29Ix| A2(Z7I2E) © +S=ELY D4 : DC 24V
71 291X HE(E7I1EE) P : ZHHEA! (None Lock Push) D2 : DC 12V
8 : 2?IX|ElE L : HtHE3IA! (Lock)
© JI2HE A%
Q@ 2Es+3 @ 2y 24l 2715 500mm
0:M5X08 SG1 : 15mm 12H|E (500mm) L1 : 2|=M 1,000mm
11 10-32 UNF SD1 @ 15mm I J2HE (500mm) L2 : 2|=M 2.000mm
SL1 : 15mm BT Zai7 AHUE|() L3 : 2|=M 3,000mm
@ ST SMH : 15mm T Z2{7 HlE{(V)
0 : None SC1-CN1 : 3Pin T + UHFRUIE|(SAY)
1: oflof +AZEa|E SC1-CD1 : 3Pin 2 + HZIUE(EE)
2 ofofz= SC1-CZ1 : 3Pn 2L + A ZUE H53R(EY)
3 ATEE[H

308 YPC



aze gyzocee SF1600

EotHrAl 3ZE 29|%|
AESA 37| 2 2= A
AtgeE 0.15~1Mpa
SELHE(mm?) 36
Fo| U AIRSFH 2T 5~ 60° (41~ 140°)
SEEA|ZH Sbar (5kgf/cm?) 25ms 0|5}
Z|CHEFSHI= 5c/ sec
Z & E1Q (T ZFAlISO VG324 ALR)
AZ XA} NON-LOCK PUSH, LOCKA! (21[13) %
MUR Hi7 |4 7 [ F
@ 3/2 Way Bl FEHA J20jE | 3E 24 =
*
® M5%0.8 wsax HIx| P42, IP65 fIUE
IT
@ HITIZ 15mm ForHel| 52 F5 4 @
@ S22k 200 0 / min(0.5Mpa) FUHZL AC 50/60Hz AC220V, ACT10V, AC24V =
FUMZAMA DC DC24V, DC12V S
AH|F AC 45VA(50Hz), 35VABOHz) / DC 2.5W, 2.0W
SIBTUHS HzATIRtol —10% ~ +10%
OFFA| Z|A Ft2F0t AC: AT 20%0| 2t DC:HZTRI2| 10%0(2t
o HESA
b2 A AEHE HaA a7 SEERENm?
SF1601-P-00 - 291R] &2IN.C)
_ =l M5 * 0.8
eSSl SF1701-IP-00 29| A2(N.0) 10-32 UNF 3.6mm?
2|t
SF1800-P-00 29)%| 2
o OiLIEC FEHA & WEHTO! RASA|
| [
OFNEIES @ 15mm ZYARLE @ Al2HY
MF1300 : SF1600 & OHLIZC] SG1 : 120jE 7Y A2 : AC220V D4 : DC24V
D1 : 2z J20E A9 AT 1 ACTIOV D2 : DC12V
@ g SM1 : I Z372UIE|(M) Ad T AC24V
02 : 28 OHLZd SL1: M= S2{aFdEl)
(HEZ= : 221~123) SC1-CN1 : 3Pin TY + UHIZUIE|(SAH)

BLK : 227 30l SC1-CD1 '3P|ni°E+ Hzéﬂa(;g)
P Ij=E HE !

www.ypc.co.kr 309



2

> 291X = £2|0|= WE

SF1601-IL-SD1-00 (N.C)

130 85‘/2—®2.8H0Ie
g |
N +
LAl

dd T e
2]
155 M5x0.8
(2-Port) 3
+
Lever Locking Override =
<
2—-(@2.8 Hole
39.5
HERRN
o & = of 2
d 4 1 + — < ™
S E - S
[
- 165 |§0
N
78.0
1 I
& ot - -—F
B\
115_[11.0 P MBX08
(1,3—Port)

s Sy A
©) HiC| U205 CHO|HAE
® 2 2=l
® il NBR
@ HIC[Y U220l
® oAE K|
® Mo|IU=RE OfACO|AAE
@ oRIZE 2K
Y Y Assy
SF1701-IP-SD1—00(N.0)
2
1 3 o
=4
Manual Button :8!
2—02.8 Hole
39.5 ‘
07\ i
o @ = o 2
o = 4 4 — ™
SIS e 1 SIS
[
o 16.5 |8O
(aV)
78.0

310YPC




sze gyocue SF1600

¢ 2 Xl

> 291X| OE &30|=
SF1800-IP-SD1-00 SF1800-IP-SC1-CZ1-00
2
1 3
%/2—@2,8 Hole
[ | ¥ k]
s Old FX [ b 1E
M5x0.8 max10.0 1315 max10.0
§ 5 - - - i
(2—Port) S
b =
Manual Button § ) E o H_
2-028 HOIe\ge_o %Z_ @ Manual Button @ zé Sy =)
460 In
ﬁ ! m:
o 0\ J . ! =
2 - o - T - S SRS - 1 -—g 3 (%)
N = = IS - = 9
1 & & X
kol kol 2
240 240 o
1230 1230
&
et
M 2-M5x0.8
(1,3-Port)
OiLIE =24 MF1300
'MF1300 [ 02 | 5 peioo
® @
OO
b A A ['EE%]
®AIE|£ (TNIHIN]
MF1300 : SF16002 OHLIZC] ®|&|® ]
[ | [ =
@ﬁ-ﬂ\— 4-@4.2 Hole @ | @ | @ [ﬂ |/4-1/8 .c%)
| S
02 : 221 L2 33&3 2 + €D B
(EZ : 28~142) TOr gt a®edr g 8 T IS i
BLK : 237 Z3foje oy 2 Y >4
SP I IIZEE ME 7.0
T
180
ff 42.0
65 B=[16.0n+8.0] 65
A=[16.0n+21,0]
OHLIEH X|4 =2
w2 | 3 | 4|5 | 6|7 | 8|9 |10 11|12
B 40.0 | 56.0 | 72.0 | 88.0 |104.0/120.0|136.0|152.0|168.0| 184.0|200.0
A 53.0 | 69.0 | 85.0 [101.0/117.0|133.0|149.0|165.0|181.0/197.0|213.0

www.ypc.co.kr 311



